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Question Number : 1 Question Id : 3419797446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An agreement enforceable by law is called:
Sod wDenldsIKe 2080

Options:



Offer
@S&cﬁ
1.

Acceptance

sofs&o
o)

Obligation
cadaiad

A Contract
solrg
4

Question Number : 2 Question |d : 3419797447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An advantage or benefit moving from one party to the other is termed as:

o8 g SHod 367588 KT (STrao BE 0l & Jorr dengrdd
Options:

Consideration

s E.Ee“}sﬁe.:c

Arrangement

Do=Yew
5

Agreement
2.3)080

Transaction

AN Tele)
4

Question Number : 3 Question Id : 3419797448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A Contract in which the promises of both the parties are yet to be performed is
known as:

285 Fbe TP Ros® DEE&R0N 28D S0Py



Options:

Executory
eseden L8AISehS

Executed
ahen oeHS

Quasi

sl
3

Bilateral
SPOL OF

4.

Question Number : 4 Question Id : 3419797449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When one party promises to save the other from loss caused to him by the
conduct of the promisor himself is called:

S EE S5 SEsS0S asbod 07 SR 58 IS8

—

Options:
Indemnity
SEF
3
Guarantee
9
&
Identity
8oy
3.
Surety
558
4.

Question Number : 5 Question Id : 3419797450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The bailment of goods as security for payment of a debt is called:
e IoyH SFpr SWIe Tonddod

Options:

Pawnee

K¢S 2utdeS 53§
s i

Pledge
5 B80S

Lien
&3
3

Specific Lean
gL O3

Question Number : 6 Question Id : 3419797451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A stipulation which is collateral to the main purpose of the contract is termed as:
o[l oy 858 wHloREorr $of NS

Options:
Guarantee
1 9

Warranty

o F&ok

Condition
3 Lo
. Rule
Qonsso
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Correct Marks: 1 WrongMarks: 0



Quantum meruit means;

E“SO;':J& H8oHS S
Options:

As much as earned

Jod Joarls wod
1

As you do

HIe T
2 G

Be careful

SPNET S0
o

Let it be done

Q0 FcHOJ¢c
4. s

Question Number : 8 Question Id : 3419797453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
According to The Consumer Protection Act , A Consumer means:

DASFRTEB S IO (H5°80, DASBTAPEEST
Options:

Only those who buy goods for a consideration

L8Swo rror SHgod SIS SeED
1. (. =] L

Even the user of goods other than the buyer, with buyer approval.
SRS whDH8st, SO wcdsrHos Shder AETRIS &

" wplecy

User of goods without the approval of buyer
0o 9008 TXor S 2GRN

One who obtains goods for resale purpose

. B8R 85508 SHJen TS &



Question Number : 9 Question Id : 3419797454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A prospectus:

belaThlevs Eﬁgo
Options:

A sale of shares
| PO @&éé{:

A sale of debentures

, &Toig v o

A sale of bonds
T0g @) &0

An invitation for subscription of shares
TFLPY JoTE BF S0
4.

Question Number : 10 Question Id : 3419797455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(i). Every member is always a shareholder.
SBITgE FoR UraeB

(ii) Every Shareholder is always member of a company
SBETD rirertd Eond g

Options:
(i) and (ii) are false
(1), (i) Bo&T waraso

1.
(i) and (ii) are true
(i) , (i) So&r aJS0
3

(i) true but (ii) is false
y () QS0 (i) wardSo



(i) is false and (ii) is true
() sseSo (i) =S50
4

Question Number : 11 Question Id : 3419797456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Financial Statements are drawn based on:

w8 38500 A werorr Scird IP

Options:
Optimising
wdoldahs

Optimism

5 BRIE0

Window Dressing

. Agusshoshes

Conservatism
s 0513 Puitnle)

Question Number : 12 Question Id : 3419797457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The nature of Capital Account is:

Do &8 grar JEES0

Options:
Real

1 TROE

Personal
éﬁ_énﬁé
o

Nominal

TS|
i



Revenue
BUS"':&FE
4

Question Number : 13 Question Id : 3419797458 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ramesh, a Cloth dealer, sells his old domestic furniture for Rs.300. Where do
you record it in the business?

S5 808 wons EDE &I g $EIT &r. 300/ - e T, wobS Tgarsos®
SR ABE ST IPS.
Options:

Furniture Account

, 535&_;:‘55 Fals

Cash Account

SRS Teae
3

Stock Account

f grae
3. W

Not recorded
ST -30&:55:
4.

Question Number : 14 Question Id : 3419797459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A sporting gun, costing Rs.300, purchased for the proprietor has been debited to
General Expenses Account. How do vou rectifv?

&57.300 DensSie wi HrED cHESTY 578%H 57 el pe grard 08
3. 603 OFore BB ?

Options:

Debit Drawing Account and Credit General Expenses Account
. TrosTEre grer S, s oY grer BAS



Credit Drawings and Debit General Expenses Account
, S e grer B, oS PETe grae Bas

Debit General Expenses Account and Credit Cash Account

SESn p&E o FOS, KD groe BAS
3,

Debit Cash Account and Credit General Expenses Account

SEE grar BAS, Feso p&e gree BAS
4. =

Question Number : 15 Question Id : 3419797460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The Opening balance of provision for bad debts Account is Rs.1000, bad debts
during the year Rs.800, . It is proposed to maintain a provision of Rs. 900. How
much amount is to be debited to profit and loss account?

o wrfo B Ao gree (oo Qg & 1000, Sosdisos® o= wefex
¢.800. dceyen®d & 900 r QS EroIEOTSD. rESgre e JodRndo
2O Fph ?

Options:

. Rs.800

, Rs.900

Rs.1000
3

, Rs.700

Question Number : 16 Question Id : 3419797461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. In case of ‘del credere commission’ being allowed to consignee, for any bad
debts in consignment business, following entry will be passed:

5500 & BIEst 530S aSH. SSpIDos ;prsos celarled & (8od
S5 s,

Options:



Consignor’s account shall be debited
1 ESpS o ZHS I

Debtor’'s account shall be debited
, O[Sl e 208 Sfoverl

Commission account shall be debited
; EHaS grar ZHE Jcio

Consigor’s account shall be credited
S8 gree B&S 3o
4

Question Number : 17 Question Id : 3419797462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The passbook of a Company showed an overdraft of Rs.2560. One of the
reasons is Cheque Rs.2490 sent to the bank but not yet collected. What is the

balance as per cash book?

0.8 Somd 5awf &= 2.560 L.38 g Doy Srdobd. 808 =80 o S0
&. 2490 3% goseSimer S, KW PH{Eo ($eedo zmo Dot Qo ?

Options:

, Rs. 70

Overdraft Rs. 70

438 (&§ &.70
2. L

- Rs. 5050

Overdraft Rs.5050
5,58 E?qz &7.5020
4,

Question Number : 18 Question Id : 3419797463 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When Goodwill is paid privately, at the time of admitting a new partner, how do
you record it?

58 AR (B Shchos® pIT e F0odS HEDS AdForr ST Jp ?

Options:



New Partner's Capital Account is Credited
|, 58 A0 SredS mrer BAS I

Goodwill account is debited
, &S groe BOS el

Old partners” account’s are debited.
S TR groren RS Ip
2.

No Entry is passed

D B S JoHed
4,

Question Number : 19 Question Id : 3419797464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

When share application money is refunded due to rejection:

BE5)Bodlo Sof e SEED Jwerd) eIk Iy
Options:
Share application account debited and Bank account is credited
| TErSSrdre DS IP®, ok gree BAS I
Bank account is debited and Share Application account is credited

aro% gror RS I, LTy BAS S
o

Surplus account is debited and Share Application account is credited
Qordes gracd BOE Jph, TrdSerd groe B&S s
z

Call account is debited and Share Application account is credited
deox) grer BOS I, PErESTey groe BAS S
4,

Question Number : 20 Question Id : 3419797465 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Share forfeited Account is shown on the:

TET 3L Tree DRI

Options:



Asset side of Balance sheet
T i T
Bl wOPe O S 5

Along with Share Capital

, PR BEOEI0S I
Deducted from premium before Share premium account is shown
S BooHo grer SrdoTavodd BEoHo Hod SARE

Added to Good will

4 MEDEE Senjords

Question Number : 21 Question Id : 3419797466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

X Lid., declared dividend at Rs.2 on its shares of Rs.10, Rs 8 paid-up. Its shares
are quoted in the market at Rs.10. What is the normal rate of earning?

&r.8 380DS &r.10 deus Ko i wp X & &r.2/- &DRo (HEB0N0s

e S8S fens & 10. el ccaldESos 9

Options:

1 20 Per cent

- 25 per cent

5 22 per cent

4 18 per cent

Question Number : 22 Question Id : 3419797467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In the valuation of shares, net assets method takes into account :
FLrPODTeRoESos” SuHe g8 85838
Options:
Earning Capacity
, w8 %5

Yield
5 &fhad



Assets Employed

QATrA0DS 8w
3

Return on Investment
enad R ocad
4

Question Number : 23 Question Id : 3419797468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
.Outstanding demand drafts issued by banks are shown in the balance sheet
under:
JQoISebS o HBIRS ol (FHoH STPOPS
Options:
Bills Payable

. 3903y Desen

Bills for Collection
o ST eSOhS gpen

Contingent Liabilities

sfodos ewdpen
3 2/

Advances
(I IRV
4 e W

Question Number : 24 Question Id : 3419797469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. In Banks the Cash which remains in the safe for emergency purposes are
recorded in:

oSt WSS wISdced TroHS* &) SR SHeed Fd
Options:

Day book
, S [Tgo

Cash Reserve Book
5 S By 8o



Cash balance book
S Ao YJso

Loan ledger
4 5oe wsoe

Question Number : 25 Question Id : 3419797470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The ratio of liquid assets to net demand and time liabilities (NDTL) in banks is
called:

(S5t whe®, DES &Srof HEcn o megide (NDTL) & Ko 8438

Options:

Statutory liquidity ratio
PIFHE  Exdndg

Cash Reserve Ratio

, SR a8y QNS

Profitability Ratio
rBaechE A8

Operating ratio
eSB8ol AS
4

Question Number : 26 Question Id : 3419797471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Insurance Companies Claims are shown:
B fonde Touden T8

Options:

On the debit side of revenue account

, 333:g gres BOS 3D

In the share premium
T (BocHos®

As Revaluation Reserve
2 e@ﬁdﬁé@gogﬁ 6:36356‘



Capital Redemption Reserve

; SHTredS OITSS E:sd:ngeﬁ‘t

Question Number : 27 Question Id : 3419797472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A agrees to take over the business of B Ltd on the following terms. The
shareholders of B zatd are to be paid Rs.25 in cash per share. The offer of four
shares of Rs.10 each in A Ltd for every share of B Ltd. B Ltd., has. 50000 equity
shares outstanding. Cost of Liquidation Rs25000 are to be borne by A lid., The
debenture holders holding 5000 debentures of Rs 100 each are to be redeemed
at a premium of 10%. Compute purchase consideration.

& (fob USHe D B O ogarcred) S0EIER8 A ©. wohstoms. B © .
T oo P o588 & 25 SAM Srlos® I0oSee0E , B & &°0 w8578
e & 10, e A & e ure asieed8 woRstowrd. B 8. e
50.000 sriredyow. O8:BLS e & 25000. A0, o8 Iod.
L8 8 & 100 Qens Ao 5000 &Boued OAS &TJoId rGH® &Tolg B
10 % [EQochos® HFrSS I, 0w ($850Q) 8§ ou08.

Options:

3 Rs 32,75,000
5 Rs.37,50,000

Rs.42.00,000
3.

Rs.52,45,000
4,

Question Number : 28 Question Id : 3419797473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Accounting Standards in India are issued by:
TESTES® wE 0Bl [HSrere 8 Fb
Options:

Central Government
Eo@ Seosco



State Government

oI [mEbeco

Reserve Bank of India
. 636:5 o =& zolde

The Institute of Chartered Accountants of India

88 wFoBol) alkirssS b Rolasr
g "

Question Number : 29 Question Id : 3419797474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Disclosures of Accounting policies are related to:
5o Doeare 28330 &8 Jokod

Options:

, AS-1

AS-2
2

AS-3
3

AS-4
4,

Question Number : 30 Question Id : 3419797475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
.Accounting for revenue recognition are related to:
BASTg 10808 wFolol D8 JH02208HDIE

Options:

| AS-23
, AS-10

AS-8
3

, AS-9

Question Number : 31 Question Id : 3419797476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Optical disk is an example of:

Options:
, Storage Device

- Instruction Device

% Programming device

; processing Device

Question Number : 32 Question Id : 3419797477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Set of programs that are capable to manage resources as well as the operations
of a computer is called:

Options:
, Operations

» Operating system

. Open System

) Organisation system

Question Number : 33 Question Id : 3419797478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In MS-word font can be found in:
Options:

. File
, Edit

Format
3

View
4



Question Number : 34 Question Id : 3419797479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Each page in Ms Excel work book is called:

Options:

1 Work sheet

o Tab

5 Active Cell

4 Active Cell Colum

Question Number : 35 Question Id : 3419797480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In Computer the sequence of instructions for solving a problem is called:
Options: )

1 Logic

> Sequence

5 Algorithm

; Structure

Question Number : 36 Question Id : 3419797481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If a sale of Rs. 300 is entered as Rs.800 in the books of original entry, such an
error is called:
¢ 300 waee®) Do &= 800 m ST FYy w6'To
Options:
Error of commission

. wseogs he &Zo

Error of Omission
5 eségd &80

Ordinary Error
. Edn 550



Compensating Error
, 98T &%

Question Number : 37 Question Id : 3419797482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Independence of Auditors means:

B&E OIS0 WS
Options:

Not bothering about anything
, 308 JowmsiERrsso

No responsibility

o TS 8oz soso

Not obeying Law
SepQ) rlosERTSEo

Independence of mind
RS0 HIBy) SOA soswo
4.

Question Number : 38 Question Id : 3419797483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An audit which is conducted in between the two annual audit for some purpose is
called:

.8 S°808* 00 Boid B whdy gy J8c&roT wiS
=1

Options:

Interim Audit
;oSS e

bi annual audit
JoS)ce8 Bod g w&S

Half-yearly audit
uEr8f s&S
2 = 8

Partial Audit

p TR wA&S
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Correct Marks: 1 WrongMarks: 0
Purchase Vouching can be done with the help of:
SHFe STN0R &0 JIFo%os® Ird
Options:
Wage Sheets
| 385 b

Invoices
B oL

Balance Sheets

ud wdve Sden
o a Y

<3
Salary books
Hdo Jlsten
4,

Question Number : 40 Question Id : 3419797485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O
An auditor has got:
=&l % =028
Options:
A lien on the books of Account

1 wfodh Yo . OF

Authority on the books of Account

5 wfotloN Jie B whs8o

No lien on the books of Account

sfodol Jizre 2 80 &I
3

Claim on the books of Account

50 4 PR L .
, ¥To80h Jlzo B Towd
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If the demand for coffee decreases as income decreases, coffee is:
Flntevele) 6@3 s &Sm0l éﬁa =&
Options:

An inferior good.
FREE YS

A normal good.
RS S

A complementary good.
5 PEE S
A substitute good.

, |{.ae_!=-£ *;_o&é@:qj
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Correct Marks: 1 WrongMarks: 0
. Isoquants that are downward-sloping straight lines imply that the inputs

mﬁsﬁéoﬁx& Bos% PeofOAS dend Bpeore ol ?
Options:
are perfect substitutes.

o e \ e s
] et g Ege.r-'uéa'ﬁioi e

are imperfect substitutes.
" "'":!-_'_. = ] b L
, $ROL ?: Ege:ﬂﬂ.:fmidfm&u

cannot be used together.
So80t3Q 508 aIBrRoTB

must be used together in a certain proportion
2.8 8y Klsfg{ié’" Sold 98 =ITrAcTd
4 -
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Correct Marks: 1 WrongMarks: 0
In the long run, monopolistically competitive firms tend to experience

- =, o
&g:?f&:-oa.“ ST RO Sogen 55 DoIa

Options:



high economic profits
©wohE wlE orgre

zero economic profits
Sy w88 orgren

negative economic profits
d:e:'ﬂe)*éé Egé IOl

substantial economic losses
TerQL)S BEE Soren

Question Number : 44 Question Id : 3419797489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O
Which of the following is a characteristic of a perfectly competitive market?

e e

Josrg 8 S0l eFmo
& S
Options:

Firms are price setters.
QoPen FED R)go:,ninoa.,

There are few sellers in the market.
ST ES° S5 v Fo THEOLEE

o
Firms can exit and enter the market freely.
Jogen SrBLE6%8 wgodes S¥os Y[LoSy (SIBoshio HE0s
4 All

Question Number : 45 Question Id : 3419797490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O
Comparative Cost theory is associated with:
HorSE S bgrodo DBETomsbod

Options:

David McClelland
| BOE Dfeorol



David Ricardo

> GO&E <Ss=<5:

David Bunyan
;. GDE 200008

David Spencer
EDHE ®8

4
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Persistent high inflation combined with high unemployment and stagnant
demand in a country's economy is known as:
2.8 85 530S DS A, D8 ATros SEEITR (BSTrenemo
& ) I ] & o - b A
Options:
Stagflation
] %ﬂﬁ o]

Inflation

(S ceneno
o L oo

Stagnation
590
5 @

Depression
ST0E50
4
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Correct Marks: 1 WrongMarks: 0

Economies of scale means increasing production with per unit.
SEFINHC0D werer ol P 888 ——————— DENOET) <38
Options:

Increase in total cost
Ingo SgooS NG



Decrease in Average Cost
SKLD Sgodos” Srhse

Decrease in total cost
. Sogo Sgoos® Srhee

Decrease in marginal cost

S0 Spohos® S
4, L.

Question Number : 48 Question Id : 3419797493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0

- Which one of the following is also known as Long run average cost curve?
& (B0& 8S° BD L I oD Bp wl K wokrd ?

Options:

Basket curve

, Y 3

Wallet Curve

. T8 T

Envelope Curve

. aoSed B

Z Curve
FoF)

4

Question Number : 49 Question Id : 3419797494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0

A firm’s average total cost is Rs. 300 at 5 units output and Rs. 320 at 6 units of
output. The marginal cost of producing the 6th unit is:
.8 $0y ¥ O chrdy JK Iwgo Sgobo 632,300, 6 oBrdy St Swgo

Spabo 67 320 | w85 cHrdS 288 SroSSHoho

Options:

Rs.20
1.

Rs.120
2.



Rs.420
3.

, Rs.320

Question Number : 50 Question Id : 3419797495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
Market structure where goods have close substitutes is best described as:
SHIoH G (Hergoirendy) SPES Ao el € (Sod HForr IGohSN)

Options:
Perfectly Competitive
D08 SO

Monopoly

:
HEeesro
[

Monopsony
BBt

Monopolistically Competitive
RETe ST
4.

Question Number : 51 Question Id : 3419797496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
The process by which a manager brings unity of action in an organization is:
Sy E* BInb sEs¥ers wfSto IF) (8D
Options:
Coordination

; F&&-:ﬁﬁ [avile)

Motivation

&en
> ©

Remuneration
. B 8 E0



Co-determination

PSS QorEe
4 -

Question Number : 52 Question Id : 3419797497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The principle which refers to team spirit is:
3 S BT0S Joa0hodS JSr°(go

Options:
Scalar Chain
=, =
, o8 33
Authority and Responsibility
5 w&se&0, aﬂcﬁgé

Esprit de Corps

&8 &8 )
3_ ! sl

Initiative

Question Number : 53 Question Id : 3419797498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

- Mental Revolution is a part of:
SeSRE HLSo &S =0

Options:
Principles of Management
Qe Jo(@ren

Human Relations management

STPSSS [oVOTLD :ﬁdﬁiﬁm
ol

Scientific Management
el o d&tHre

Bureaucracy
237°50°(8R



Question Number : 54 Question Id : 3419797499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number of subordinates which a manager can effectively supervise is
known:
2.8 3n8 rFEorr DELEroSKOR Bod s6°gbe Sopgd & HFore dengrs
Options:
Graicunas
1 @'é@nﬁ

Scalar Chain

221 3

Span of Control

:ﬁoﬁ:ot.‘&"e:rn LN
3.

Division of Labour
@55: &S
4

Question Number : 55 Question Id : 3419797500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

. The principle which states responsibility can neither be delegated nor be shifted
to another person is known as:

eEg S I6°E 88 S3S JonBado, 260 IoNTw 8 I) dgrodn
Options:

Principle of Absolute Responsibility
HED egys dgroso

Parity of Authority and Responsibility
&80, TS FSHI0

Unity of Command
8% QEST0

Unity of direction

985 Qfaco
4 % i

Question Number : 56 Question Id : 3419797501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Poultry farming comes under:
S5 molso
Options:
Extractive industry
i 208 oo, DBES
Mining Industry
Ao HBES

Manufacturing Industry
5 8 J6ED

Genetic Industry
BSEE JES

o

Question Number : 57 Question Id : 3419797502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Indian Railways comes under:
78S S8qen
Options:

Government Corporation

(H5EHeSt 5287\ 8aS
1. | S =)

Public corporation
SEE 95“;35&5

Departmental Undertaking
&&g&o&aé SIers)

Joint enterprise

S & D05
= &

Question Number : 58 Question Id : 3419797503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The official signature of a Joint Stock Company means:
sPonody %g gomd or Jodto elre

Options:
Signature of Managing Director
, D320R ZBEE SosEo

Signature of Chairman

2T -
5 28 Jodto

Signature of Promoter

553&3‘-'55&& DosEo
3. ®

Comrﬁon Seal
55 &8

Question Number : 59 Question Id : 3419797504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The liability of Karta is:
&8 =g
Options:
Unlimited
; 808ddo

Limited to the face value of the shares
o PEPE 0 DendS H8do

Limited to the paid up value of the shares

5 e J9odI Dendd HBSo

Limited to the Market value of the shares
) 53185_&5- DensSE JB&ado

Question Number : 60 Question Id : 3419797505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to MSME Act, 2006 A micro manufacturing enterprise is an enterprise
where investment in plant and machinery
MSME =Sgo 2006 ($s°8o g o Koy wsm oL, CHOEOSt ——mm- tpad

:s‘-ﬁd_r:h,



Options:

Does not exceed Rs. 25 lakh:;
, © 25 oge Eo8 oo
Below Rs. 50 lakhs
& 50 ofe 508 QoS

Does not exceed Rs10 lakhs

] & 10 ofo 508 Quosd

Does not exceed Rs 5 lakhs

& 3 ofe 508 o
4

Question Number : 61 Question Id : 3419797506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The term error in Statistics refers to :
Keros 5 o8 &0 wSm

j—

Options:
Mistakes

| SrER

bias

, rAES

Both mistakes and bias

e, PSS Bock
=

difference between the value of a statistic and that of the corresponding
parameter
Sowodd rsdond | PERES Ko Sko

T

Question Number : 62 Question Id : 3419797507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The mid-point of a class is obtained by:
SENE &g Doy ESHACIS

Options:



adding upper and lower limit

) B85, D 5% Seudo L o°

by deducting upper limit from lower limit

A0S B350 Dok BSS wSe ShIahgo Lo
o

by dividing the difference of upper and lower limit by 2

DS, BILS e DS S 28° zrAoSEo Greoe
3. -

by adding upper and lower limits and dividing by 2

s, &S et ﬁoé&m:‘i‘& Bod® mRodSod arroe
4. -

Question Number : 63 Question Id : 3419797508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which average is affected most by extreme observation in a series:
& (8ob FOST & DKL L'_éeﬁa."aﬁj 98 Q.S /| SIS wioseds (rddo wgsod
Options:

Median
. 55:&55&50

Mode
. ERPht 2-To)

Arithmetic Mean
. (Tle]-] 5:6,555530

Geometric Mean
RIED 5:655530
4

Question Number : 64 Question Id : 3419797509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Calculate Median from data of the Wages:
Wages (Rs), 1080, 1100, , 1120, 1150 , 1160, 1200, 1400

Seeer (& ) 1080, 1100, , 1120, 1150, 1160, 1200, 1400

Options:



1R5.11DD

Rs. 1150
2

Rs.1200
3

Rs.1400
4.

Question Number : 65 Question Id : 3419797510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

- When coefficient of skewness is positive, the distribution is said to be :
BhDy Mo Sred¥o wond, ¥ dzEsso

Options:
Leptokurtic
B¢ 588

Platykurtic
, e

Symmertrical
s rRso

Positively skewed
S & BlHg0

Question Number : 66 Question Id : 3419797511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Standard deviation is always computed from:
rreds QToTR) AuIPEr THAG6

Options:
Mean
g 0EDHO GeCoe
. ' %]
Mode

aonfso oeeoe
2 W



Median
&c‘ﬁgﬁé@ arLoe
3,

Geometric Mean
fabloe! 5:6,5555::::' aeLoe
4

Question Number : 67 Question Id : 3419797512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The Coefficient of Correlation is always:
QPlood Ko gl
Options:

More than +1

+1 8o ).
ks,

Less than -1

| 158 2%y

Lying between -1 and +1

. -1+1808 %)

4, 0to1

Question Number : 68 Question Id : 3419797513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The square of Coefficient of correlation is called:
Do olMes 5<§c
Options:
Coefficient of determination

1 R)gﬂ&es Moeago

Standard deviation

) @%‘Saﬂﬁé DS

Probable Error
SogrSsee & 5o



Negative correlation

635’3’“6{;5 [EeNomolo
4

Question Number : 69 Question Id : 3419797514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The price index used in statistical deflation is called:
Kepof (S genee Sarend aidrhol 859
Options:

Deflator

, &b

Splicing

Sndol
= iR

Chaining

30oh
5 =°°

Slicing

o
. .

Question Number : 70 Question Id : 3419797515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What would you use to compare the frequency distributions of more than one set
of data?

B0 Sabe Fof AE)S S3oml) Fesedd aidrAoS TrIiyS] deaso
Options:

Frequency polygon
S E;,r:ﬁ": NN

1.
Bar Chart

, Coile) D(SSe0
Line Graph

5 835 ()



Scatter Graph

v o
PupiaSTRES T A le!
4 o]

Question Number : 71 Question Id : 3419797516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The process of stopping the flow of the cheque issued by a drawer to the drawee
bank branch is called:

=78 IS I e Hod (Erd mro K IF) Q) ¥ (DB

Options:
Cheques Truncation Payment system

JLye (LOBRS IQoy IS

Stop Payment
I8ony was0

Refusal
8655.;8

Bad Loan
crSE0

Question Number : 72 Question Id : 3419797517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

.The rate at which RBI lends to commercial banks generally against government
securities is termed as:

Fedag arobod (KISt DEode Fls® RBI aFiere p S T

Options:
Reverse Repo rate
1 85y BB

Repo Rate
Joly =280

Interest
<5

AL



Charges
:.FEEZG
=

Question Number : 73 Question Id : 3419797518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An increase in CRR :
CCR &°® %05

Options:

Reduces the lending capacity of banks
aro® OJNheo Qﬁé:o;gﬂé 0Hod

Increases the lending capacity of banks
zro%H 0F) e PaHEesl) ToHbod

No Effect
Q?@Sa:%ﬁo S08

Makes RBl weak
RBI @ axofrs 8508

Question Number : 74 Question Id : 3419797519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The open bank institution of India is:
ES B50S° LS Bo|Earo

Options:

Central bank of India
TS Eo@’a:ﬁoé’c
1

State bank of India

o8S VE arod
2. T

Reserve Bank of India
y Evilel) ] 6356::5 o



ICICI
4,

Question Number : 75 Question Id : 3419797520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ATM stands for:

Options:

1 Any Time Money

» Automated Teller Machine

z Automatic Teller Money

4 All Time Money

Question Number : 76 Question Id : 3419797521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

If a cheque is presented for payment after three months from the date of the
issue it is called :

OIS DS S Jweod TED QoK DO wh

Options:

Anti-dated Cheque
| OSmod EBE 3%y

Stale cheque.
S Iy

Post dated Cheque

; G ERE

Mutilated Cheque

DhS T %

Question Number : 77 Question Id : 3419797522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which one of the following does not belong to the major general insurance
private sector companies in India?

& Sod >OS” ab RPIT Kok 3385 asT=BT) o =k ?



Options:
Bajaj Allianz General Insurance
2anE JOcHoF* 33568 2SI
1,

Reliance General Insurance
o e W =m = =,
3 Ee..oMS;U BIES "ﬂmaﬁm

Royal Sundaram Alliance Insurance
cecDS odo LOCLY) aST)CS)
3

The Oriental Insurance Company
& LaHonrd asT)8S) somd

Question Number : 78 Question Id : 3419797523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘When was Life Insurance sector nationalized?
£9e8 B EorrQ) QTP choHo ITE 7

Options:

, 1834

1907
2

_ 1938

, 1936

Question Number : 79 Question Id : 3419797524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The principle of insurance which states that an insured may not be

compensated by the insurance company in an amount exceeding the insured’s
economic loss is called:
o

S
S50 Sooio.

Options:

BoooHs) © 58 B wbs SePREOB QY).S JBFEo FLoIIITE0 63

[



The principle of indemnity

SHREZE Jv(So
3

Principle of Subrogation
(Dez=g 572 B[

Double Insurance

B0y A
T e

Insurable Interest
A5 wls

Question Number : 80 Question Id : 3419797525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
. The following one does not come under money market:
& (Sob FOS® Q& (BS5 S8 DS® oo ?

Options:

Treasury Bill
S8 O

Commercial Papers
5 goﬁaa{' E30

Certificate of Deposits
JBABS wf (RS

Asset Securitization
e DERLBEESS

Question Number : 81 Question Id : 3419797526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Antonym

Vivid:

Options:



. Dull

Distinct
z.

- Glowing

N Clearly

Question Number : 82 Question Id : 3419797527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Antonym

Volatile
Options:

1 Short-lived

N Steady

\aporous
2.

Impermenant
4,

Question Number : 83 Question Id : 3419797528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Antonym

Lackluster

Options:
1 Colourless

5 Sombre
N Shining

2 Dim



Question Number : 84 Question Id : 3419797529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Antonym

Robust

Options:
1 Booming

» Powerful

= Prosperous

" Iineffective

Question Number : 85 Question Id : 3419797530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Antonym

Vague

Options:
; Ambiguous

, Sure
- Obscure

Faint
4.

Question Number : 86 Question Id : 3419797531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Synonyms
Boost

Options:

Advance
1,

. Decrease



Stagnation
<3

Decline

Question Number : 87 Question Id : 3419797532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Synonyms
Alliance

Options:
; Discard

- Divorce

Disunion
3

Collusion
4

Question Number : 88 Question Id : 3419797533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Synonyms
Lucid

Options:
] Transparent

” Dark
g Confused

Clouded
4

Question Number : 89 Question Id : 3419797534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Synonyms
Plunge
Options:

. Ascent

Increase
2.

Rise
3

, Fall

Question Number : 90 Question Id : 3419797535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Synonyms
Skewed

Options:
. Maintain

, Straighten
2 Bias

i Venture

Question Number : 91 Question Id : 3419797536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
th - s =
15" Finance Commission chairperson
SERISS Py 8RS IS

Options:

1 P.K.Singh
> N.K.Singh

g Narendar Modi



y Arun Jaitely

Question Number : 92 Question Id : 3419797537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Reserve bank of India present Governor:
BB oSS Basdy a0 ASES

ol
Options:

, Shaktikant Das

- Urjit Patel

. Raghuram Rajan

4 Bimal Jalan

Question Number : 93 Question Id : 3419797538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
NITI Ayog Chairperson:
NITl eS3=f 365
Options:
Finance Minister
Egé &o@é

Commerce Minister

Jeelsr SHolé
2 - e

Prime Minister
SpS SHo(d

Chief Justice

GRS TP CeTE
4, = =

Question Number : 94 Question Id : 3419797539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



SEBI Chairperson:
SEBI ;@6&5

Options:

. G.Mahalingam
Ajay Tyagi
2,

S.K.Mohanti
3

; Ananta Barua

Question Number : 95 Question Id : 3419797540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Telangana State was officially formed on:
Soorrer o030 whsSore a8 &0k

o

Options:

1 2" June 2014

2" December 2010

9" December 2009
=,

; 23" December 2009

Question Number : 96 Question Id : 3419797541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Cyclone which hit Odisha in May 2019 was called as:
2019 B S° 2.8)% o8 KPS
Options:
Hud dud

- 8 08

Fani

o
2.



Tiffany

2
el

Jasmin
Eﬁﬁﬁ

Question Number : 97 Question Id : 3419797542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

.The Single Indirect Tax in India is called:
TESGI05D o8 &Q}éﬁﬁgé N

Options:

, VAT

GST

z.

; CENVAT

Road Tax
) 58 w-rﬁ.r‘:l

Question Number : 98 Question Id : 3419797543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The present CEO of Google Company:
KenS Sond 28 CEO
Options:
Lary Page
1EFEi£

Sergey Bin
PGES

Sundar Pichai

008S &uedn
3.



Satya Nadella

RT3 v itoTnled
gy =

Question Number : 99 Question Id : 3419797544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

. The latest demonetization in India took place in the year:
98 DY S°Y O TEIBES® BBAS SoSINE0

Options:

2014
1.

2015
2

_ 2016

, 2019

Question Number : 100 Question Id : 3419797545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
According to Kalyana Lakshmi Scheme, in Telangana, at present the financial
assistance is:

e ©f) 850 ScorerSt g [Hikd Iwdo

Options:

. Rs. 51,000

Rs. 50,000
2

. Rs. 75,000

Rs.1,00,001
4,



